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Note: This question paper cottlains t\\'tl llarts A and fl.
Part A is contpr-tlsort, tr h'ch carries 2-. ntarlis. ,\trsrve r all qLtesti(llrs irl l)at't A.

Part B consists ol 5 L,irrits. Ansi.r,er anr one fill c1 Lrestiorr ll'otlr cacll Ltnit. Iraclr

question carric-s l0 ntarks and ntay have a. b. c as sub qLtt-stiotls.
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tlnd utrl(r "aS.
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Find 1- {cos' zr}.
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Evaluate l.l,tc',/.t.
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Evaluate I I l,n'dt'dz.ttt

-_--.lf 7 : xi + yi + zk thqn f-ind

State Creen's theorenr on a p

Evalrrate f (rt - 1z + rt ).

If 7 is a constant vector then
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i,, ,,' , : g, ir So,lve the dif-ferential eqrration ;;*9x=sin/
Llt'

, (o) - t. ,(71):,

trsrrtg Laplace given that
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7 . ',,, ,Find .the area ol tlte loop of the ctlrve i: = rr ( I + cos [/ ) .

8.a) Prove that v.(7"8): B.(v"7)-7'(v"81

b) Find the cjirectiorral clerivative ol 2.rr +::at (1. -l. l) irr tlrc,'jireutic'rral o1'/
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q. Slto*rliatr [,(,')-i= f"(,'\-z/,t'(r')rilru'e I lr]'
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\zerify Green's theorerrr ttrr J 
(rl' +.t'' )dx + t'rA'
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Verif,r,the Stoke's theorenl lbr /r--)'i +:1 +.rk

,' + y' + z' :1 above the xY - Plane.
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